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NEET MICRO TEST 4 (14.11.2024)

20 x 4 = 80 MARKS

Botany: Morphology of flowering plants, Zoology: Breathing & Exchange of Gases
Chemistry: Chemical Bonding & Molecular Structure, Physics: Laws of Motion

1. Which of the following plants produce edible
root?

1) Zingiber officinalis
2) Solanum tuberosum
3) Curcuma longa

4) Raphanus sativus

2. A slender lateral branch arising from the base of
the main axis and after growing aerially arches
downwards to touch the ground is seen in
1) Mint and Jasmine
2) Banana and Pine apple
3) Grass and Strawberry
4) Pistia and Eichhornia

3. Which one of the following is not a leaf
modification?
1) Spines of Cactus
2) Tendrils in Pisum
3) Phylloclade in Opuntia
4) Pitcher, Nepenthes

4. Find out the incorrect statement

1) Depending on whether the apex gets
developed into a flower or continues to grow,
two major types of inflorescence arc present

2) In racemose inflorescence flowers are borne
in acropetal order

3) The floral axis has limited growth in racemose
inflorescence

4) In cymose inflorescence the main axis
terminates into a flower

5. The technical term used for the androecium in a
flower of China rose
1) Monoadelphous
2) Diadelphous
3) Polyandrous
4) Polyadelphous
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1) Zingiber officinalis
2) Solanum tuberosum
3) Curcuma longa
4) Raphanus sativus
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6. Pneumotaxic centre which can moderate the
functions of respiratory rhythm centre is present
in
1) Pons
2) Medulla oblongata
3) Hypothalamus
4) Midbrain

7. Rate of diffusion of O2 at alveoli and tissue is
independent of
1) Partial pressure
2) Solubility
3) Thickness of diffusion membrane
4) Rate of diffusion of CO»

8. Contraction of diaphragm
1) Increases the volume of thoracic cavity in
dorso-ventral axis
2) Increases the volume of thoracic cavity in
antero-posterior axis
3) Decreases the volume of thoracic cavity in
dorso-ventral axis
4) Decreases the volume of thoracic cavity in
antero-posterior axis

9. In which of the following animals, water does not
circulate through their body cavities to facilitate
the cells to exchange substances?

1) Hydra
2) Sycon

3) Obelia
4) Taenia

10. Volume of air that will remain in the lungs after
the forceful expiration is correctly represented by
1) TV + ERV
2) TV + IRV
3) TLC-VC
4) ERV + IRV

11. Number of ¢ and = bonds present in CHz — CH =
CH-C=CHare
1) 100, 3%
2) 100, 21t
3) 90, 21
4) 8o, 3n

12. Assertion (A): CHs > NH3 > H20 is the order of

bond angle present in the compounds.

Reason (R): Number of lone pair increases, bond

angles decreases generally.

1) Both (A) and (R) are correct and (R) is the
correct explanation for (A)

2) Both (A) and (R) are correct but (R) is the not
correct explanation for (A)

3) (A) is correct but (R) is incorrect

4) Both (A) and (R) are incorrect
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According to molecular orbital theory which of
the following is true in the following conversion
0; — 03

1) Bond order decreases

2) Bond length increases

3) Bond strength increases

4) Stability decreases

Which of the following molecular orbital has
nodal plane perpendicular to the bonding axis

1) oyp,

2) O1s

3) myp,

4) 015

Match the following

Molecule|Hybridisation
A)SFs  |P)sp

B) AsFs |Q) sp®

C) NH} |R) sp’d?

D) BeCl; |S) spd

1) AR, B-S, C-P, D-Q
2) A-R, B-S, C-Q, D-P
3) A-S,B-R,C-P,D-Q
4) A-S, B-R,C-Q,D-P

A 6000 kg rocket is set for vertical firing if the
exhaust speed is 1000 m/s, the amount of gas that
must be ejected per second to supply the thrust
needed to overcome the weight of the rocket is
(g = 10 m/s?)

1) 30 kg

2) 60 kg

3) 75 kg

4) 90 kg

A monkey of mass 20 kg climbs on a rope which
can stand a maximum tension of 300 N. In which
of the following case will the rope break, the
monkey

1) climbs up with an acceleration of 6 m/s?

2) climbs down with an acceleration of 4 m/s?
3) climbs up with a uniform speed of 5 m/s

4) falls down the rope nearly free under gravity

A body is acted on by a force given by
F = (10 + 2t) N. The impulse received by the
body during the first four second is

1) 40 NS

2) 56 NS

3) 72 NS

4) 32 NS
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The mass of the bob of a simple pendulum of
length L. If the bob is left from its horizontal
position then the speed of the bob and the tension
in the thread in the lowest position of the bob will
be respectively
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1) \/2gL and 3 mg
2)3mgand ,/2gL

3)2mgand ,/2gL
4) 2 gL and 3 mg

Three blocks of masses 4 kg, 6 kg and 8 kg are
hanging over a fixed pulley as shown. The
tension in the string connecting 4 kg and 6 kg
block is

8kg 6kg
4kg
1)4N

2)6N

3) 320/9 N

4) 40/9 N
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1) /2gL and 3 mg
2)3mgand ,/2gL

3)2mgand /2gL
4) 2 gL and 3 mg
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8kg okg
4kg
1)4N

2)6 N

3) 320/9 N

4) 40/9 N
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